lesson 2'&9”3@4(_5‘

B

Youv Turn ( - popufqﬁm Groutth _
fa’] decmsms becavse @xPomumt 1S Mgahue

IE 14q0; ¢t 20 ‘pg 372,550 peapie.
2000 @ talw , P 233S, 394 peope
Jood | £, P2 331,530 people

¢ 300 = 372.6C o 10l0s2e

390 __ - e-.omstt
378§
302, 2 T.olosat
I” (37;.5‘5\ .
= —7] y €ar olo
Q0.6,, = T
Cpor Tven 2 - Richinscale S

Q . I‘:fo""" ~ [,a57€, a5

b. T alohe = 34,810,117
[ b1ll:0n

Joey Toea 3 = Compomd Infeest
'____—_-__H

4¢ _
| 2,400 = B000 ([4._3.‘_7.) - dinda by 8000 and add (n€o In Q)

do mol hplcchu adhe takey o
|.§§ 2 (I.OHS)‘N»' . m-&:‘rlaz‘,:zf (A 5
: 'lftir S U% outs) 5 dwdde both sickes by log lLot7s
0‘ 5
as.26le = 4¢ - dind, bel

.3 vems =]



Lesson o Enswers

p""d\q_ Popv’qME

a. 1%z 139y

_‘.?-9 - CIOK

134
[n (1{‘%‘) = 0k,

Pracha. Popelafm

a 478:= asge”*

$7§& N em“
58

[ ({-:-_‘é) 2 10K

b t=a0

P - ‘3" e('“‘ls‘)@o

[p2 2070 pere)

b i t-~20
p=asee<”” @)

m hl“’

?
Prache  RickinScat,  (R)= 128 T

0. R= Ioa (3%,811,000) = 76 o Achrscale

b R log (12,584 ,000) * 7408 B

N

g (as1,200) *

rscale

S.Y4on 2!4“5“‘&'



LQSSO)‘I A MSW

rt
P”td"w. Com povnd /n‘aes‘f S use}_@

Aable Inthel

1. lIc:>.c>c:w:>

3“ '.1.000

q $7,500
10, '1 000
11, i, 000
1Z. 300

lave€stmen
ity

13, 1%3,761.81

A :[3.0%.&3]

), Fea 7,39¢.24

a' t:" ‘002 amfj

3, = §.4 years

o Time foDoekle Amourt
JntnedRate T s m‘d"h
4€yrs — =
3.5% = Pues)
1S % Azsie)
3.3% 2 years m
2 7(&!‘5 / ‘,I 7?4"”;
(253 ZSSS"yurj’ & coss 1y
{37-7%5) 3552
4-5% 'lao‘ 002,00
& Jo 34135 5,500.00
‘__--—_-__‘---_-—"

¥
4. P= 12,738 55
s.t= 3-/amr_s

6. t= 7.7Y4 years



Lesson 2.10 Exponential and Logarithmic Applications
Exponential Growth / Decay Model - Given exponential growth or decay the amount P
after time ¢ is given by the following formula: P=Pe"

Here P, is the initial amount and k is the exponential growth/decay rate.
If k is positive then we will have a growth model and if & is negative then we will have a
decay model.

Use the exponential growth/decay model to answer the questions.

A. A certain bacterium has an exponential growth rate of 25% per day. If we start with
" 0.5 gram and provide unlimited resources how much bacteria can we grow in 2 weeks?

Given /z’-é}m ﬂ=£€“ )
K= 25% = .25 = 5.6.95‘{/4’
£ =14 dlays =.5¢° = #s¢

We can grow /J—J'érj-ms s 2 weeckS .
g, During its exponential growth phase, a certain bacterium can grow from 5,000 cells to
" 12,000 cells in 10 hours. At this rate how long will it take to grow to 50,000 cells?
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Lesson 2.10 Exponential and Logarithmic Applications
€

If certain isotope has a half-life of 4.2 days. How long will it take for a 150 milligram
" sample to decay so that only 10 milligrams are left?

(hint, solve for "k" first based on its given half life (t = 4.2) and then apply "k" to solve for "t" for 10 mg)
bven b, =150 m

@ Lacf K Jweh .‘l#'r"’lk

.5)
@ movel: P ss0d )
0‘: 4.2 Ja.yj
P = et G Frd ¢ when P=/0m5
L) (1)
— .t
75 = 150 ¥ 10 = ss0d ¥ 1)
5 - e oL R
1) =SaKln _ (5) I
o o en(#) = G2 LF
2 =
e $.20n(75) _
x -. /65035 2ni-s)
tx /A

T# will Juke about /6.4 days
The half-life of carbon-14 is 5730 years. If it is determined that an old bone contains 85%
" of it original carbon-14 how old is the bone?
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